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Old Syllabus

Time : 3Hrs. Sem - VI/Ag. Engg
HSF

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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10. Write the scope and importance of vegetable and

11.

fruit preservation. g

Heoll UqH Bl ® URRE &I Agd &l ford |

OR (312141)

What are the facility made available by the
government for policy frame work for social

forestry programme.

arifoie afal erisd & forw fiferra etar
P Id WBR & gRT FaT—aa1 Gfgemy
Ul B Y 2

Describe about the technique of plant protection

measures for fruit crops with examples.

el ® Glel T A& ddb-ild SGIexvl &
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(iii)
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The commercial method of propogation of
gUaVaA 1S .o

(a) Budding

(b) Grafting

(c) Cutting

(d) Air-layering

e A AP uter yasetT
fafer @ @1 oY 2
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(@) ®eH du

() wdoT gRT

(|) T (TR aRa)

The distance between plant to plant and row
to row is equal in ............... of planting .

(a) Square system

(b) Rectangular system

(¢) Quinquix system

(d) Conture system
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GROUP -C

Answer all Five Questions.

i ufg g & SX © |

7.

8x5=40

Write in brief about kitchen gardening and

biodynamic system of growing vegetables crop.
8

T8 aIciel &1 i< fdaver fod ey sua
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OR (3121a1)

What is the ideal nursery management and its
importance in social forestry.

eyl ulerener ydEE dar 2 | aH Sudl
Hed gHIfore aival & dad § 1 gar 27

Explain in detail about method of harvesting and
marketing of fruits.

Bl &l JsIs vad fauvHE &1 fawga vu 4
ATET BN |
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(vi)

(vii)
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(viii)
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a1 f=faRaa & 9 fea aRar &1
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(31) e
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'Chinia' and Malbhog are the popular varieties

(a) Mango
(b) Banana
(c) Citrus
(d) Litchi

i g ArewiT f&a v &1 yqe
gorifa 2 |

(31) 3
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Bihar stands first position in cultivation of
.................. fruit crops.

(a) Litchi

(b) Mango

(c) Banana

(d) Jack fruit
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Afssral & =9 ya=a9 uad ]Aurs fafer &1
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OR (3121a1)

Write the concept of social forestry and its usefulness

in rural masses.

qfdem & AdheuT $i fad gaq urfior 8=
¥ 3ae SUAT & oY 3ifed a |

Explain fruit grower and mention steps involved in

orchard establishment.
4

BTG I ARAT B YIH 39D 9 D)
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Write the criteria for selection of plant social
forestry.

gfqen 4 dl" & g9 @ g @1 A1uSs 2 |
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The science of cultivation of vegetables is

(a) Pomology

(b) Olericulture

(c) Floriculture

(d) Medicinal and aromatic plant

ool &I Wl & | a9 & @8d 2|
(31) wrATATSH

() srei®eax

(¥) BaNIdeaR

(3) sitwela vy e dig

World environmental day is celebrated on
.................. day in a year.

(a) 6th April

(b) 6th May

(c) 6th June

(d) 6th July
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GROUPB

Answer all Five Questions.
ol i 9eHl @ STR < |

2. Define horticulture and mention its different

4x5=20

branches.
4
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Late- blight of potato occurs due to.........
(a) Fungus

(b) Bacteria

(c) Deficiency of Nutrient

(d) All of the above

(c) Flower /Curd
(d) Leaf
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